Physical Science Worksheet: Chapters 14 - 18
Multiple Choice

1.
There is a repulsive force between two charged objects when

A) their charges are of unlike sign.   B) they have the same number of protons.   C) their charges are of like sign.   D) they have the same number of electrons.

2.
A 13  resistor has 0.050 A of current in it. What is the potential difference across the resistor?

A) 6.5 V   B) 0.65 V   C) 0.065 V   D) 0.0065 V

3.
Electric force varies depending on the

A) charge and distance between charged objects.   B) charge and mass of charged objects.   C) height and mass of charged objects.   D) mass and distance between charged objects.

4.
A computer monitor is an example of a(n)

A) input device.   B) output device.   C) storage device.   D) processing device.

5.
The SI unit of resistance is the

A) volt.   B) ampere.   C) ohm.   D) joule.

6.
A train of waves is moving at a speed of 30 m/s. The frequency of the waves is 10 Hz. What is the wavelength?

A) 300 m   B) 30 m   C) 3 m   D) 0.1 m

7.
The frequency of a sound wave determines

A) the pitch of the sound.   B) how loud the sound is.   C) how fast the sound travels.   D) the magnitude of the compression.

8.
A set of electric trains are powered by a 9V battery. What is the resistance of the trains if they draw 3.0 A of current?

A) 3 B) 0.03 C) 27 D) 2.7 

9.
The brightness of a light bulb is determined by its filament’s

A) voltage.   B) amperes.   C) watts.   D) resistance.

10.
Language is an example of a

A) signal.   B) script.   C) symbol.   D) code.

11.
Batteries typically have

A) two positive terminals.   B) two negative terminals.   C) one positive and one negative terminal.   D) no terminals.

12.
Potential differences cause

A) electrons to move from the positive terminal to the negative terminal.   B) electrons to move from the negative terminal to the positive terminal.   C) protons to move from the positive terminal to the negative terminal.   D) protons to move from the negative terminal to the positive terminal.

13.
The area covered by each microwave relay antenna mounted on towers is called a

A) box.   B) cell.   C) space.   D) region.

14.
Sound waves

A) require a medium.   B) are unrelated to vibrations.   C) cannot travel through liquids.   D) can travel in a vacuum.

15.
Magnetic fields are produced by

A) electric charges.   B) electric currents.   C) gravitational force.   D) water currents.

16.
What causes a compass needle to point to geographic north?

A) The pole of the compass is attracted to Earth’s Geographic North Pole.   B) The compass needle aligns with Earth’s magnetic field.   C) The force of Earth’s rotation causes the needle of the compass to seek the north pole.   D) All of the above

17.
The amount of energy in a photon of light is proportional to the

A) medium through which it travels.   B) shape of the light wave it creates.   C) speed of the corresponding light wave.   D) frequency of the corresponding light wave.

18.
An analog signal

A) never varies.   B) varies continuously within a range.   C) shows only a single reading.   D) uses a single flashing light.

19.
A color television draws about 2.5 A when it is connected to a 120 V outlet. Assuming electrical energy costs $0.060 per kWh, what is the cost of running the television for exactly 8 hours?

A) $1.44   B) $0.03   C) $0.14   D) $0.30

20.
A wave has a period of 0.25 seconds. The frequency of this wave is

A) 25 seconds.   B) 0.25 hertz.   C) 4 hertz.   D) 2 hertz.

21.
When a wire is moving perpendicular to a magnetic field, the force on the charges is

A) at a minimum.   B) at a maximum.   C) zero.   D) All of the above

22.
A wave with a frequency of 0.5 Hz and a speed of 10 m/s has a wavelength of

A) 50 m.   B) 0.5 m.   C) 20 m.   D) 0.2 m.

23.
The rate at which light energy flows through a given area of space is referred to as its

A) speed.   B) wavelength.   C) intensity.   D) energy.

24.
In 1989, the Web was

A) used exclusively by the U.S. Defense Department.   B) as widely available as it is today.   C) used mostly as a resource for scientific information.   D) nonexistent.

25.
A cordless phone is a

A) transmitter.   B) receiver.   C) transceiver.   D) translocator.

26.
A wavefront is

A) the first part of a wave.   B) a surface made up of all the points on a wave that have the same energy.   C) a line connecting a crest and a trough.   D) the initial disturbance of the medium.

27.
A person is standing still and listening to a siren sounding an alarm. The frequency of the sound is 500 Hz. The person begins running toward the sound at a rate of 20 m/s. The frequency of the sound the person hears will

A) remain the same.   B) increase.   C) decrease.   D) change by 20 Hz.

28.
The smallest piece of an electronically produced picture is called a

A) bit.   B) byte.   C) ray.   D) pixel.

29.
A wave x meters long has a speed of y meters per second. The frequency of the wave is

A) x/y   B) y/x   C) y  x   D) y + x

30.
Where are Earth’s magnetic poles are located?

A) Canada and Australia   B) Canada and Alaska   C) Canada and Antarctica   D) at the geographic poles

31.
Which of the following is not a type of electric cell?

A) electrochemical   B) thermoelectric   C) mechanical   D) photoelectric

32.
Generators convert

A) mechanical energy to electrical energy.   B) electrical energy to mechanical energy.   C) chemical energy to electrical energy.   D) electrical energy to chemical energy.

33.
Sound travels fastest in

A) air at 0° C.   B) air at 25° C.   C) rubber.   D) sea water.

34.
When light moves from a material in which its speed is higher to a material in which its speed is lower, it is

A) bent toward the normal.   B) bent away from the normal.   C) reflected off the boundary.   D) changed into a virtual image.

35.
A computer modem is

A) an input device.   B) an output device.   C) both an input and output device.   D) neither an input nor an output device.

36.
Water waves are

A) longitudinal waves.   B) transverse waves.   C) mechanical waves.   D) compression waves.

37.
What is the potential difference across a resistor that dissipates 5.00 W of power and has a current of 5.0 A?

A) 1.0 V   B) 125 V   C) 4.00 V   D) 0.20 V

38.
If a 325 W heater has a current of 6.00 A, what is the resistance of the heating element?

A) 88.1 B) 54.2 C) 9.03 D) 11.4 

39.
Short-range radar works by sending a signal out from a control tower that is

A) analyzed by a Doppler scanner on the ground.   B) reflected off a plane back to the control tower.   C) increased in intensity as it passes through the atmosphere.   D) scanned and analyzed by a receiver on board an airplane.

40.
Magnetically soft substances

A) retain their magnetism longer than others.   B) lose their magnetism more easily than others.   C) cannot be magnetized easily.   D) pick up more iron nails than magnetically hard substances.

41.
Television converts electromagnetic waves into

A) lights and sound.   B) images and sound.   C) lights and images.   D) All of the above

42.
An electric motor and a generator are similar in that both

A) use electricity.   B) produce mechanical energy.   C) transform energy into a different form.   D) create energy.

43.
A code is

A) a special kind of signal.   B) the meaning of a signal.   C) a change in a signal.   D) unrelated to signals.

44.
Which type of electromagnetic waves has slightly longer wavelengths than red light?

A) yellow light   B) infrared light   C) ultraviolet light   D) green light
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